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O H=<K5><4a =7,

S + H
L+ H = {‘»bz =06 + H
2+ H = {2,713 = 7+ H
3+ A= {3% =g+ 4
Y4 H = $4,9Y = 9+ H
@ H:<IO>QG—=7J: H= 1H:{'J'°}=IUH
2H = {29} = 9H
(T veed powers o‘? 2 y H = {t.f/-/}:-_—]H
becange L, =<Tp. Py g§H =9g,3% =3H
rnem\%r and i powers SH=§s5,6%=6H
wouid also work ; we covld
also have vsed He veoal order LH,2H,3H, 44 ..., bt fhat
has po relation #o fﬁej,f-au/o _;7Lruc‘/'uf-e in Z_’Z
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These Two are exac'{'/y +he same up 7[a iso/r:arp/‘ian/ _7/" x Z,,

3 H=<abd < G=D, =<ab[a%-t% ¢ ba-a3bd

Hz=eH=je,abf = ab 1 H=He ={e, ab} = Hab
q//=f4,azé}:cﬂ/'/ #a:{a) 6} :#6
a?H = {a% 345 = A H Ha*= § oy 24} = Hadb
3H = {Wi bf=056H Ha3 = {43, azA} = Ha?b

/\/m/é d/‘/ and 4314 anre ndf /‘/“7/'-/ :O}eé /‘/6( and #43 d"E’ﬂ"IL k/?L raS-eA'.
(B H= 9 6=y

H=eH = {e’ql} =atl He = Ha?
aH = fa,a%F = 31 < Ua = Ha?
bH= §6,a%f = a%H = HL = f{a*%
abH - faé)cﬁé} =ahH = Hab = Ha*h

\



& H=<@6H 03)en> < Sy

H = %(), (QFAYELD) , (13)(2‘{)/ (H-{)(zg)}
a4y 4 = f(az\/ €34y, (1324, /14 23)]
as) H = { (13, (1239), (29) , (14 3 2) }
(4) 4 = (14), (12'43)/ (1342), (23) }
(1zz3) H =

{ (¢23>, (1349) (243) (14 2)7}
(29 H= [ (129, (143),(152), (234) §

(& u=<0239> < Sy

H=OH=§0,0234), (13)@%) (1432)
(1D H=§a, (234, (1324}, (143) §
U3 H={ U, GG, (24), (19)(23 ]
W) H= 5 (4, (123), (13492, (243)§
(23) H= f (23), (|3tl)l (1243)1 (:qz)}
(34) H=1 G4), (124), (1423) (132)}

H=rO =10, 0239 (3)@w), (t432)%

HGD =30, (134),(1423), (243)3
H @)= { (), 093, an, t2164)}
H (i) 5(1‘4)/ (z34), (i2943), (132) 3%
H (23) = { &», (124) (1342), (143) 7

A (34) = § B4, (123) (1324, (142) 3
Exercise: Defermine Fthe gooups (D L5y
& 7/ <
©) D, /<a*y

@:/ Sy/[n) (3%)/ (13) (z4) >
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